Railsback's Some Fundamentals of Mineralogy and Geochemistry

Fractionation of carbon isotopes in photosynthesis

In photosynthesis,
Carbon dioxide + Water = Organic matter + Oxygen
6CO, + 6H,0— C;H,,04 + 60,
the lighter isotope of carbon, 12C, is greatly preferred.

Stomatal portal to the biochemical machinery
that will manipulate carbon atoms

This makes carbon isotopes great tracers for biological carbon,
which will be enriched in 12C (i.e., depleted in 13C , and thus have a low 613C).

LBR SFMGCarbonlsotopes&Photosynthesis01.0dg 5/2017



